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1. Background
This contribution provides more results according to the last meeting’s WF [1].
2. Discussion
2.1 Synchronized scenario
Simulation results are submitted in [2] according to the arrangement of the offline simulation results collection. Generally, ATG BS/UE can reuse TN BS/UE requirements.
2.2 Non-synchronized scenario
For the non-synchronized scenario, we have some initial simulation results. We only simulated the 60 degree candidate between ATG BS boresight line and nearest boresight in azimuth.

For case 7, 4GHz ATG UL victim and TN DL aggressor, the simulation results is as following,
[image: ]
From the above results, 11 km isolation distance is needed.

[bookmark: _GoBack]For case 14, 2GHz ATG UL victim and TN DL aggressor, the simulation results is as following,
[image: ]
From the above simulation results, 20 km isolation distance is needed.

We will provide more results in next RAN4 meeting.
3. Summary
This contribution provides our simulation results for ATG synchronized and non-synchronized scenarios. We will provide more non-synchronized results in next meeting.
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